AEDHFTHZEED

=, T74ILDHRHA
1 fBESNZAHOKTE, + — x = L) ZHAVT, 1205 10 X TOEZEZ L oA EED 5,
2. A fHOF A > TWHUE, ZOIEFITAB T,
3. B, WART M, ML Tli-sTHRNWZ EELET., (Bl41-32=9)
4. 4+ — x =+ L (), FEOKICRS>TVBRIFAL bOEMEHF->THRVEEL LET,
5. LTFTON—=VIZH HEWNLTH ETEHTT,

6. UTICHAFEOMITT T, R TF I L TEDRNWEEZ NN DEEHRET,

HFEOH - —&

1118 1119 1122 1128
1129 1147 1148 1149
1157 1158 1159 1167
1168 1189 1377 1378
1389 1478 1556 1558
1569 1578 1669 1679
1689 1778 1788 2257
3444 3457 3459 3568
3577 3588 3666 3667
3669 3688 37TTT 3779
4444 4459 4555 4569
4599 4666 4667 4678
4699 4778 4788 2557
5569 5577 5678 D778

5789 6788 6889 T

Copyright 2009 7>7~® K Y /L http:/kaminodrill.sakura.ne.jp/



fRE I

(1118

1+8x(1—1)=1

11—(1+8) =2
11-—1-8=2

1x(11-8)=3
1x11-8=3

1+11—-8=4
1+ (1+1)x8=4

148+ (14+1)=5
8—(14+1+1)=5

N

IXB-(1F1)=6
I1x(8—1-1)=6

1x1x@8-1)=7
I1x(1x8—-1)=7
1Xx1x8—-1=7

IXx1x1x8=8
1+(1x1+8)=38
1x(1—-1+8)=8

1x1x(1+8) =9
1x(1+1x8) =9
1+1x1x8=9

IxA+1+8) =10
1+1x(1+8)=10
14141x8=10

J

N
-

1119

1+9x(1—-1)=1
1M—(1+9=1
11-—1-9=1

-

x (11 —9) =2
Xx11—9=2

[

1+11-9=3

O-1=+(1+1)=4

1+9)+(1+1)=5

N

9-—(1+1+1)=6

.

XxXO-—(1+1)=7
Xx(9—-1-1)=7

=

1x1x(9-1)=38
1x(1x9—-1)=38
I1x1x9-1=8

IX1x1x9=9
1+-(1x1+9)=9
1x(1-149) =9

1x1x(149)=10
1x(14+1x9)=10
1+1x1x9=10

N
(

1122

I1x(142-2)=1
1+1x(2-2)=1
1+1-2+2=1

1+142-2=2
Ix(1+2+2)=2
1+1x2+2=2

1+142+2=3
2x (141+2)=3

1x1x(2+2) =4
I1x1x2x2=4
1x(1x242)=4

Ix(1+24+2)=5
1+1x(2+2)=5
1x(14+2x2)=5

1+41+24+2=6
1+1+2%x2=6

T+2x(1+2) =7
1+12+2=7
11—(2+2)=7

x(1+1+2) =8
)% (2+2) =8

2
1+
(14+41)x2x2=28

Ar2)x(1+2) =9
12— (142)=09
12-1-2=9

Ix(12-2) =10
1x12-2=10
11-2+2=10

y

N
/

1128

11—-(2+8)=1
11-2-8=1

8x (1-1)+2=2

12— (1+8)=3
12—1-8=3

1+(1x2+8)=4
I1Xx1+2x8=4
1x(12—-8)=4

1+41+2x8=5
1+12-8=5

~

1x1x(8—-2)=6
1+14+8+2=6
1x(1x8—2)=6

Ix(1+8-2) =7
1+1x(8-2)=7

I+1-2+8=23
(1+1)+2x8=28
2x(1—1)+8=38

A+1)+~2+8=9
1x18+2=9

1x1x(2+8)=10
1x(1x2+8)=10
1x1x2+8=10

N
-

1129

J
~

11+(249=1 9x(1—-1)+2=2 1x(12-9)=3 1+12—-9=4 Ix(1+9)+2=5

(11-2)+9=1 12— (1+49) =2 1+(1+2)x9=3 (1+1x9)+2=5
12-1-9=2 1x12-9=3

T+(1+9+2=6 TXIXx(0-2) =7 Ix(1+9-2) =28 I¥1—-249=09 I+ +2+9=10

Ix(9—(142)=6 | 1x(1x9-2)=7 1+1x(9—-2)=8 (1+1)+2x9=9 (1+19)+2=10
Ix1x9—-2=7 2x (1-1)+9=09

N
-

1147

MN+@+7=1
A4x(1+1)—-7=1
A1—4)+7=1

—

X14+7=2
x(14+7)+4=2

[

14+14+7=3
Ix1x(T—4)=3
1+(14+7)+4=3

Ix(1+7—4)=4
1+1x(7T—4)=4

1+41+7—-4=5

A+ x(7T—4) =6
(1+41)+7=6
14— (147 =6

X(1d—7) =7
X14—7="7
Ax(1—1)+7=7

=

1+14-7=8

4—(1+1)+7=9
4-(1+1)4+7=9
4-1-1+4+7=9

TX(1+1) —4=10
Ix(4—1+7) =10

J

N
(

1148

(14+1) x4+
4x(141)+

8=1
8=1

1+(1—-4=38)
1+(1x4+8)
1Xx1+4x8=2

2
2

1+1+4x8=3
Ix(1+8+4)=3

(1+1)+-4x8=4
1x1x(8—4)=4
1+1+8+4=4

Ix(14+8—4)=5
1+1x(8—4)=5

~

y

N
/

9—4x(141)=1
9-1)+4—-1=1

=3
14(9—-1)+4=3

14— (1+9) =4
14—1-9=4

Ix(14—8)=6 T+id—8=7 Ix(1I-1)+8=38 I1-8:4=9 Ex(1+1+4) =10
8x (1—1+4)=6 1+1)x(8—4)=8 4—(1+1)+8=10
1x14—8=6
1149

1+4x(9-1 1+(4—1)x9 I9x(1-1)+4=4 1x(14—9)=5

1x14-9=5
1x1x(9—-4)=5

~

1+14-9=6

1+414+9-4=7

ix (11-9) =38

Ix(1—-1)+9=09

A+ x(9—4) =10
(9—4) x (1+1) =10

y
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(1157

15-1-8=6

A+1+45)+7=1 Ix1x(7T—5)=2 5x(141)—7=3 1+147-5=4 7Tx(1—-1)4+5=5
1+1)=(7T-5)=1 | Ix(1x7—5)=2 Ix(1+7-5)=3
IX1IxX7—5=2 1+1x(7—-5)=3
GFN-(0+1)=6 |6x(I-D+F7=7 Ix(5-7 =28 T+15—7=9 -1+ +7=10
15— (1+7) =7 1x15-7=8 5—1—1+4+7=10
5—-1-7=7
(,1158
58+ (1+1)=1 (1+15)+8="2 IX1x(8—5)= I1x(1+8—5)=4 1414+8-5=5
8—(14+1+45)=1 5x (14+1)—8=2 1x(1x8—5)= 1+1x(8—5)=4
Ix1x8—-5=3
A+ Xx@B—5)=6 | Ix(15—-8) =7 T+i5-8=28 5+8+(1+1) =9 8- (1—-1+5) =10
15— (14+8)=6 I1x15—-8=7 5x(1—1)+8=38

N
K1159

5x (141)—9=

1
(149 +5-1=1

1x(14+9)+5=2
1+1x9)+5=2

1+(14+9)+5=3
1x(9—(1+5)=3

1x1x(9—-5)=4
1x(1x9-5)=4
I1Xx1x9—-5=4

Ix(1+9-5)=5
1+41x(9-5)=5

Ix(156-9)=6
1x15-9=6
1+14+9-5=6

14+15-9=7

(1+1)x(9-5)

=38
O-5)x(1+1)=8

BX(1I—1)+9=09

5x (11 —9) =10

N
r1167

1+4146-7=1
Ix(1+6)+7=1

1+(1+6)+7=2
I1x(1+7-6)=2
1+1x(7T—6)=2

1+41+7-6=3

7T—6+(14+1)=4

6x(1+1)—7=5

Tx(1-1)+6=
)=

6
1+ (7+6—-1)=6

1+-(1-6=+-7)=7
6x(1-—1)4+7=7

Tx(1+1)—6=28
16— (1+7)=38
6-1-7=28

Tx(16—7) =9
1x16—-7=9

1+16—-7=10

N
(1168

(14+14+6)+8=1
(1+1)=@B8-6)=1

1x16+8=2
1x1x(8—-6)=2

14+16+8=3
1x(14+8—-6)=3
14+1x(8—6)=3

1+-(1—-6+8)=14
6x(1+1)—8=4
1+41+8—-6=4

8—6+(14+1)=5

AN

Ex(1—-1)+6=6

6—(1+8) =7
16-1-8=7

Tx(16—8) =38
1x16-8=28
6x(1—1)+8=38

1+16—-8=9

Ex(I+1)—6=10
6+8+(1+1)=10

N
(1189

1+414+8—-9=1
Ix(1+8) +9=1

1+(1+8)+9=2
1xX18+9=2

1+18+-9=3
1+1+9-8=3

8+ (11—9)=4

9-8+(14+1)=5

84+9—-11=6

Sx(I+1)-9=7

IX(1—-1)+8=28
18— (1+9)=8
18—1-9=38

1-(1-8+9)=9
1x(18—9)=9
1x18—-9=9

14+18—-9=10

N
K1377

1+3x(7T—-7) =1
3-(147+7)=1

Ix@B-7+7)=2
I1x3-7+7=2
17-3)+7=2

1x@34+7-7=3
1+3-7+7=3
1X3x7+7=3

14+34+7-7=4
1XxB+7+7)=4
14+3XxX7T+7=4

1+3+7+7=5

SX(1+7+7)=6

TT—@B+7)=1
17-3-7=7

A7+7)+3=38

T-—1)=3+7=9

Tx(1+3<x7 =10

N
K1378

3-1+7-8=1
3-(1+8-7)=1

Ix(3+7—8)=2
1X347-8=2

1+34+7-8=3

1x(3+8—7)=4
1+3x(8—7)=4

1+3x(7+8)=5
1+4348-7=5

17-(3+8)=6
17-3-8=6
14+ (74+8)+3=6

3IX8—-17T=7

18— B3+7)=8
18—3-7=38

Ex(B-1)—-7=9
(713—1)+8=9
T+8+(1+3)=9

(1+8)+3+7=10
3x(7T—1)—-8=10
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(ﬂ389

3-18+9=1
3—-1+8-9=1
3-(149-8) =1

Ix(3+8—9)=2
I1x3+4+8-9=2

1+3+8—-9=3

1x(3+9—-8)=4
1+3x(9—8)=4

1+43+9-8=5

8—(3+9 =26
18x3+9=6
18-3-9=6

EX(3-1-90=7
9-8+(143) =7

9-—(3+8) =38
19-3-8=28

(I8+9)=3=9
3x9—18=9

Ix(B-1—-8=10
8—14+9+3=10
8+9:3-1=10

N
(1478

7T+8—-14=1

(14+7)+(8—-4)=2
(18—4)+7=2
4-147-8=2

1x(44+7-8)=3
1x44+7-8=3

1+4+4+7-8=4

Ix(4+8—-7)=5
1+44x(8—7)=5

A+47)=8=6
1+44+8-7=6

T+ =7=17
18— (4+7)=7
18—4—7=7

Ix(1+8-7 =38

T-4x8+7=9
IX(T+8+4)=9
I1X7+8+4=09

14+7+8=10
(1+7)+4+8=10
1474+8+4=10

N
/ﬂ556

1+46x%x(5—5)=1

5+15x6=2
Bb-14+6)+5=2
G+5)+(6-1)=2

5—-1+5—-6=3
5—(14+6-5)=3

I1x(5+5—6)=4
15— (54+6) =4

(14+5)x5+6=5

Tx(5-5+6)=6
1x5+5x6=6

T+5-5+6=17
Ix(5+5+6)=7
145+5x6="7

I+5-5+6=8

15-5+6=09
(51 —6)+5=9
5x5—16=9

5X(1+6—5)=10

N
r1558

1+8x (5-5)=1
5—1+5—-8=1

1x(5+5—8)=2
15— (5+8) =2

1+5+5-8=3

8+ (1+5+5)=4

15+(8-5)=5
8—15+5=5

8—(1+5+5) =6
8—1-5+5=6

(1+55)-8="7
I1x(8-5+5)=7
1X8—-5+5=7

Ix(5-5+8) =38
1x5+5x8=8

T+5-5+8=9
1x(5+5+8) =9
1+5+5x8=9

1+5+5+8=10

N
/1569

15+ (6 4 9)

=1
(15-6)+9=1

1x(5+6—9) =2
I1X546—9=2

14+54+46—-9=3
1+5%x(6+9) =3

(1+5)x6+9=4
6x(1+5)+9=4

15+ (9 — 6)
(16 +9) + 5

5
5

A\

G-1)-6x9=6
IX(5—1)+6=6

5-1+9-6=17
(51 -9)=6=7

Ix(5+9-6) =38

T+5-6+9=9
(14+5)~6x9=9

15x6+9=10
(1+5)+~6+9=10

N
/1578

15+ (7+8) =1
(15-7)+8=1

(1+5+8) +7=2

1+5x(7T+8) =

3
1x(7T+8)+5=3

Ix(5+7—8) =4
1x54+7—8=4

1+5+7-8=5

IxX(B5+8—7)=6
1+5%x(8—7)=6

T+6+8-7=17

8x (7T—(1+5) =38
8x (7T—1-5)=8

8= (7T—5) =9
7—(1+5)+8=9
7-1-54+8=9

Ix(7T—5+8) =10
I1X7—-5+8=10

N
/1669

1+9%x(6—6)=1
16— (6+9) =1
16-6-9=1

1x6+(9—6)=2
6x(1—6+9)=2

1x(6+6—-9)=3
1X6+6—-9=3

1X6x6+-9=4
1+464+6—-9=4

1+46x6+9=5

96 + 16 = 6

19—(6+6)=7
19-6-6=7
61—-6x9="7

Ix(©9—-6+6)=28
I1X9—-6+6=38
6-1+9-6=28

IX(6—-6+9) =09
1X6+6x9=9

T+6-6+9=10
1x(6+6+09) =10
1+6+-6x9=10

N
(-1679

16 + (74 9)

1
(16-7)+9=1

17— (649)=2
17-6-9=2

1X6+(9—7)=3

IX(6+7—9)=4
I1X6+7—-9=4

146+7—-9=5

J
~

19—-(6+7)=6
19-6—-7=6

6-1+9—-7=17
6+9—(14+7)=7

1x(6+9—-7)=38

T+6-7+9=9
(146)-7x9=09

dI+6)=7+9=10
(1469)+7=10
1% (7=6+09) =10

J
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(ﬂ689

84+9—-16=1

(1+6+9)+8="2

18— (6+9)=3
18—6—-9=3
(1+8+9)+6=3

6—18+9=4
6—1+8—9=14
6—(1+9—8) =4

Ix(6+8—-9)=5
Ix6+8—-9=5

~

1+6+8—-9=6

TXx6+9-8) =7
14+6x(9—8)=7

1+6+9-8=38

Ix (B—(1+6)=09
9Ix(8—1—-6) =09

S—(1+6)F9=10
8—1—6+9=10

N
/-1778

1+8x(7T—7) =1

17— (748) =2
17—7-8=2

(17+7)+8=3

18— (7T4+7) =4
18—7-7=4
8+ (1+7+7) =4

7T-1+7-8=5
7T-(1+8-7)=5

AN

Ix(7+7-8)=6
1X7+7-8=6

T+7+7-8=7
(A+7)x7+8=7

1x(7—7+8) =28
I1X7+7x8=8

1+7-7+8=09
I1x(T+7+8) =9
1+7+7x8=9

1+7+74+8=10

K1788 N
1+7x(8-8)=1 (1+7+8) +8=2 18— (7+8) =3 8+ (14+8-7) =4 7—(1+8+8)=5
8x (1—-7+8) =1 18—7-8=3 7-1-8+8=5
17— (848) =1
IxX(7T—8+8)=6 Tx(7T+8-8) =17 1+7+8-8=3 T+7+8=-8=09 1+8—7+8=10
1X7—-8+8=6 147-8+8=7 Ix(T+8+8)=8 (1+7)+8+8=9
7—(1+8-8)=6 IX7x8+8="7 1+7x8+8=38
(,2257 ~
2-(245)+7=1 242+45-7=2 24+(245)+7=3 2Xx7T—2x5=4 242x5-7=5
2-2+(7T-5)=1 2x(245)+7=2 242+ (7T—5)=3 B+7)+2-2=4 Tx(2-2)+5=5
2:247-5=3
2X(2X5-7) =6 2x(2+5)—7=7 2Xx(2+7-5) =28 25-7)+2=9 22— (5+7) =10
24247-5=6 2x2x(7T—5)=8 2x(T—5+2)=9 22-5-7=10
242x (7T—5)=6
(,3444 ~
3+ (4—4+4)=1 (B3x4—4)+4=2 3+4x(4—-4)=3 3x(4—4)+4=4 34+ (4+4)+4=5
3—(444)+4=1 4+ (B3-4+4)=2 3x4—(444)=4
(B+4+4)y+4=1 4-344+4=2 (Bx4+4)+4=4
3¥4+4—4=7 3+4+4+-4=28 3x{@A—4=4) =9 4 —34=10
344xd+4=7 4-34+44+4=9
3x4+(54+7) =1 (B3Xx5—T)+4=2 4-3+4+7-5=3 3x5—(447) =4
(B3x4—5)+7=1 3x(T—5)—4=2 3x5—4—7=4 (3+4)x5+7=5
4-(B+T)+5=2
3X(@A+5-7) =6 35—4xT7=17 B+ x4+5=28 3+4x(5+7) =09 3x4+5—7=10
3x4+(7T—5)=6 (35-7)+4="7 4x (347 +5=8 34+4-5+7=9 (3+47)+5=10
(,3459 ~
4x9-35=1 3—(445)+9=2 34+4+5-9=3 34+ (4+5)+9=14 (34—-9)+5=5
9—4x(5-3)=1 3-4+(9-5)=2 3x (445)+9=3 344+ (9-5)=4 4-349-5=5

BXx5+9)+4=6
45 -39 =6
45+3-9=6

3B+-(9-4)=7
3X9—-4x5=7

3+45+9=28
3X4+5-9=8

3+54+-9=09
54+3-9=09
54+ (9—3)=9

3x5+4—-9=10
3x(9—4)—5=10

N
(-3568

3+(54+6-8)=1
3x5—(6+8)=1
3x5-6-8=1

(3x6—8)+5=2
5+3x6—8=2

3+6)+-(8-5)=3
3x(8—5)—6=3
5+(3-8+6)=3

(B3+5)+(8—6)=4

6x(5—3)—8=4

3x6—(5+8)=5
3x6-5-8=5
34+46+(8-5)=5

AN

3+5+6-8=26
(3+5)x6=-8=6

B3F5) =8+6=
3+(8=5)+6=

38—-5X6=28

3x(5+6-8) =9
3+6x8+5=9

3+56+8=10
3+5—-6+8=10
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(3577

3x5—(T+7) =1
3x5-7—7=1
5-B+7+7) =1

37-5x7=2
5—(34+7—7)=2

345x(7T—T7)=3
5-3+4+7+7=3

(B5—7)+7=4
53— TxT7=4

3x(T—T)+5=
B+7) +(7-5)

5

5

~

GB5+7)=7=6

3+5-—7-7=17
TX(B+5-T7)=17

3+5+7-7=28
3+5Xx7T+7T=8

3¥5+7+7=9
3x7—(54+7) =9

EX(3—7=7) =10

N
/-3588

3+845=
5—(3+8+-8) =1

(3+5+8)+8="2

3+5x(8-8)=3
5-3+8+8=3

8—8+(5—-3)=4

3x(8—8)+5=5

J
~

(38—-8)=5=6 3+5-8<8=17 3+5+8—-8=23 3+5+8+8=09 5X(3—8=8) =10
3+5x8+-8=28 (3+5)+8+8=9
(,3666 ~
3-(6+6)x6=1 (3Xx6—6)=6=2 3+6x%x(6—6)=3 (3Xx6+6)>6=4 34+(6+6)-6=5
36+ (6x6)=1 6+(3+6—6)=2 36+ (6+6)=3 6+(3+6)x6=4 (36 —6)+6=5
36 +6+6=1 6—(3+6+6)=2
3X(6+6) ~6=06 (36+6)=6=7 316-6-6=28 3+6+6—-6=09 3+6+6<6=10
3x(6—6)+6=6 34+6x6-6=09
(,3667 ~
37— 6x6=1 6-3+6-—7=2 34+7x(6—6)=3 6-—3+7—-6=4 3x6—(64+7) =5
6+3+6-7=1 6—(34+7—-6)=2 6+(34+6-7 =3 3Xx6—-6-7=5
6+ (3x(7T—6))=2
(36+6)~7=26 3X(6—-6)+7=7 3+6+6—7=23 3-6+6+7=0 3F6—-6+7=10
6X7—36=6 346x%x(7T—6)=09 346+6x7=10
(3+6)x (7T—6)=9
(—3669 N
3+(64+6-9)=1 3+64+9+6=2 3+9x%x(6—6)=3 3x(64+6)+9=4 346+(9—-6)=5
3-6+(9-6)=1 6—-36+-9=2 3x6—(6+9) =3 3+9x%x(6+6)=4 6—(3+6)=9="5
(3+9-6)+6=1 (6—3)x6=+9=2 3x6—-6-—9=23
3+6+6—-9=26 3+6x6+-9=17 3X6+9+6=28 3x(6+6-9)=9 36 -9 +6=10
(3+6)x6=-9=6 (3+9)+6+6=38 6x(3-9+6)=9
(—3688 ~N
6+3-8+8=1 3x6—(848)=2 3+6x%x(8—8)=3 (38—6)+8=4 (38—8)+6=5
8+ (8—6)—3=1 3Xx6—-—8—8=2 6—-(34+8-8)=3 6-3+8+8=4
8x8—63=1 6+-(3+8—-8)=2 6+8+8—3=4
3X(8—8)+6=26 3+8-(8-6)=7 316-8-8=28 3f6+8—-8=0 316+8<-8=10
8—3+8—-6=17 3:6x%x(848) =8 346x8+-8=9 3x8—(648)=10
/,3777 ~N
3-(T4+7) +7=1 BXT-T)+7=2 34+7x(7T-7)=3 BXT+7+7=4 34+ (7T+7)+7=5
(7T—7+7)+3=2 T—(B+7+7)=3 T—(B+7-T7)=4 7-34727=5
T—3x7+7=4 T4+7+7-3=5
SX(T+7)~7=6 BX(T—T)+7=7 TT=7—-3=28 3¥7—-7-7=09 3+7+7—7=10
327X (T+7) =6 3XT—(T4+7) =17 347XxT7T+7=10
3XT—T7T—-7="7
(,3779 ~
7-3x(9-7)=1 7T-34+47-9=2 34+9x%x (7T—-7)=3 B7-9)+7=4 3x7T—(T+9) =5
T—(B4+9-7) =2 7T-(B3x7+9) =3 7T+749+3=4 3Xx7—-7-9=5
(7-3)=(9-17)=2 (T4+9)=(7T-3)=4 | B+7)+(9-7)=5
T—3+9-7=6 TXBF+T7T-9) =7 3+7+7—-9=28 3X(T—7+9=09 73— 7x9 =10
7x7—39=10
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-

4444

4+-(44+4-4)=1
4x4+4x4)=1
4+-4x4+4)=1

4x4+(4+4)=2
4—(4+4)-4=2

(A+4+4)+4=3
(Ax4—4)+4=3

444x(4—4)=4

(A+4x4)+4=5

I+(d+r4)<4=6

44+4—-4+-4=7

44+4+4—-4=28
44+4x4+4=8

44+4+4+-4=9

(-4 =4=10

N
-

4459

45+9—-4=1
5x9—-44=1
9+4-5+4=1

Ax4—(5+9)=2
4x4-5-9=2
(A4+4)+(9-5)=2

4—(445)+9=3
4-4+(9-5 =3

4+4+5-9=4
4x (4+45)+9=4

44+ (445)+9=5
444+(09-5)=5
4+449-5=5

AN

5_4+9-4=6
54+9—(4+4)=6

(#—-9)+5=7
4x5—(449) =7
A4x5-4-9=17

A+4x9)=5=28

I¥45+9=09
5x (4—4)+9=09
45-4x9=09

4+54+9=10

N
-

N
-

N
-

N
/

N
-

N
K

4555 A\
4+-(b-5+5)=1 4x5+(5+5)=2 (4x5—-5)+5=3 445x(5—5)=4 4x(5—-5)+5=5
(4+5+5)+5=1 4—(5+5)+5=2 45+-5—-5=4 (4x5+5)+5=5
5—(4+5-5)=1
4+ (5B5+5)+-5=6 55 -5 —4=7 4+5—-5+-5=8 4+5+5—-5=9 44+5+5+5=10
4x(5+5)+-5=8 44+5x5+5=9
4569 ~
46 -5x9=1 4+(B+6-9) =2 45+ (6+9) =3 5-449-6=4 4x5—-(6+9)=5
4—-(64+9)+5=1 44+9-5-6=2 (4+5+9)+-6=3 4x5-6-9=5
(4+5)+-9—-6)=3
4+5+6—-9=6 (4+5)+9+6=7 4x(5+6—-9)=8 (454+9)-6=9 4x6—-(5+9) =10
(44+5)x6+-9=6 4+(9-5)+6=7 4x6—-5-9=10
4599 ~
4+-(5-9+9) =1 (4+54+9)+9=2 54+(94+9)=3 445x%x(9—-9) =4 4x(9-9)+5=5
4+94+5+9=1 4x5—(9+9) =2 9-54+9=3 (45—-9)+9=4 (54—9)+9=5
(449+9)+5=1 49 —-5x9=4
(454+9)+-9=6 (4+59)+9="7 4+5-9+-9=8 4+5+9—-9=9 4+5+9+-9=10
4x(9-5)—9=7 44+5x9+9=9 (4+5)+9+9=10
4666 A\
6—(4+6+6)=1 4XxX6+(6+6)=2 (4x6—-6)+-6=3 44+6x%x (6—6)=4 (4x6+6)-6=5
6—4—-6=+-6=1 4—(64+6)+-6=2 6—4+6+-6=3
4+(6+6)-6=6 66+-6—4=17 4x(6+6)-6=28 4+6—-6-6=09 4+6+6—-6=10
4x(6—-6)+6=6 4+6x(6+6)=8 44+6x6+6=10
4667 A\
6—-4+6-7=1 6+-(44+6—-7)=2 6—-44+7-6=23 44+ 7% (6—-6)=4 6x(6—4)—7=5
6—(44+7-6)=1 6+4X6-—T7=2 46 —-6x7=4
6—4x(7—6)=2
66+ (4+7)=6 4x(6-6)+7=7 Tx(6—4)—6=38 4+6+6—-7=9 4-6+6+7=10
6X6—-—4x7=8 (4+66)+~7=10
6+6=(7—4)=8 4+6x%x (7T—6)=10
4678 A\
4x(8—-6)—7=1 4—-(6+8)+7=2 6—-4+8—-7=3 T—4x6+8=4 6+4x8—-7=5
48+-6—-7=1 4+ (6+8)x7=2 (7T—4)+6x8=4 6x8+4—7=5
6-—4+7—-8=1
4+ (6+8)+-7=6 84+6-T7T=7 4x(6+8)~7=28 4+6+7—-8=9 4+-6x(7+8)=10
(4X7+8)+6=6 4+7x(6+8)=8 4x6—(7+8)=9 4+6x(8—7)=10
4X6+8+7=10
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-

4699

4-9+(9—-6)=1
4-(949) +6=1
6—-(44+9+9)=1

6—(4+9-9) =2
6+-(4—-9+9) =2
6—-4x9+9=2

4x(9-6)—9=23
6—4+9+-9=3
6+9+9—-4=3

446x(9—-9) =4

6x9—-49=5

N[

N
-

N
-

IX6-(9+9 =6 I+9-(9-6)=7 9-4+9-6=28 I+6-9+9=09 I¥6+9-90=10

4X6-9-9=6 440949 +6=7 Ix(4+6—9)=09 446%x9+9=10

4%x(9—-9)+6=6

4778 ~

TXT—48=1 7T-(AxT7+8) =2 7T—4x(8-T7)=3 448x(T—T)=4 (47-7)+8=5

8+4—-7+7=1 T-(AxT)x8=2 (T—4)x(8=7T)=3 | 7—4+8—-7=4 TL7+8—4=5
T—4+47-8=2 7T+74+8+4=3

84+ (7T+7) =6 IX(T+7)=8=17 Ix(T—T7)+8=28 TX8—47 =09 I+7+7—-8=10
428x(T+7) =7

4788 ~

7-48+8=1 7T-(4+8+8) =2 7T—(4+8-8)=3 447x(8-8) =4 7-8+(8—4)=5

7T48+4-8=1 7-4-8+8=2 7—4x8+8=3 7-448+8=4 8—4+8—-7=5

Trdx8—-8=26 IXB—-8)F+7=7 (818 +7=38 Tr8=(8-4) =09 I+7-8<8=10

Tx8+4—-8=6 7x8—48 =8 8+4x8—-7=9

5557 N

7T—(5+5+5)=1
7T-5+5-5=1

5—54+7—5=2
5+5x%x (T—5)=2

5+5+7-5=3
7+5+5-5=3

55 +5—-7T=4

5+7x(5—5)=5
(5+5)+(7T-5) =5

BGX7—-5)=5=6

BX (-5 +7=7

5+5+5-7=28

BGF5)<5+7=09

5X7—-5x5=10
75 +5—-5=10

5—(6+9)+5=2

5-5+9-6=3
5+5x%(9—6)=3

5+54+9—-6=4
56+ (54+9) =4

6-5+9-5=5

J
~

N
/

N
/

N
-

6Xx(5+5-9 =6 5+5+6—-9=7 5+ (6+9) ~5=3 6x(5-5+9=9 5Xx(5+6—9) =10
9x(5-5)+6=6 (59 —5)+6=9 5x5—6—9=10
5577 ~
5+(54+7-7) =1 55 +7+7=2 5x(7T—5)—7=3 7T-54+47—-5=4 54+5x(7T—T7)=5
5+ (B5xT7+7) =1 (T—B)x (7T—5)=4
55 —7x7=06 TXGB-5) +7=1 T5-b5-_7=28 5f5-7-7=09 5+5+7—7=10
B+7)=(7—5)=6 54+5x7+7=10
5678 ~
5-(6+7—-8)=1 5% 6+ (7T+8) =2 5—(648)+7=3 6+(B5+7)x8=4 7-6=+(8—5) =5
56+ (7x8) =1 5x (8—6)—7=3 6x(7T—5)—8=4
56+7+8=1
G+ -(8-6=6 |5+(06+8)=7=7 7T8-6-5=2 GF+67)=8=9 5+6+7—-8=10
8—(54+7) +6=6 (6+8)+(7T-5) =7 (5+7)x6=+8=9

57 —-6x8=09
5778 ~

57 —Tx8=1
7T-547-8=1

7T—5X%
7—5)

8—7)=2
8-7)=2

X ~

7T—-5+8-T7=3

7T—(74+8)+5=4
T+T7T+8—-5=4

54+8x%x (7T—7)=5
75+ (7+8)=5

N

TX(7T—5) —8=26

57—8)+7=17

5x(7T—T7)+8=38
(57+7)+8=8

58 —7x7=0
8x (7T—5)—7=09
TXT—5x8=9

7+ (7T+8)=5=10

J
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-

5789

5-8+(9-7) =1
7T-5+8-9=1
7T—-(5+9-8)=1

5x(9—7)—8=2
(7-5)%x(9—8) =2

5= (7T+8) x9=3
(BxT7—8)+9=3
5—(7T49)+8=3

7+(54+9)x8=4
Tx8+(5+9) =4

7-8+(9-5)=5
7TX9—-58=5
8—5+9-7=5

~

N
-

N
K

N
-

(G7—-9)=8=6 BF(7+9) +~8=7 95 — 87 =8 5+8+-(9-7 =09 BX(T+9)~8=10
8= (5+7)x9=6 (5x849) ~7="7 5+8x%x (T4+9) =10
85— 79 =6 (58—9)+7="7
6788 N
6+ (7T—8+8)=1 7T-6+8+8=2 67 —8x8=3 7+(6+8)x8=4 78+6—-8=5
(6+8+8)+7=1 T4+8+8—-6=2 7-8+(8—6)=3
7T—-(6+8—-8)=1 8—6x (8—7)=2 8—6+8—-7=3
6+7x(8-8) =6 6x(B8-8) +7=7 6x8+8) ~7=28 (78—6)=8=09 6+8) ~7+8=10
7Tx(8—6)—8=6 Tx8—6X8=8 8x (8—6)—7=09 (6+8x8)=7=10
78 — 68 = 10

6889 ~
8—6+8—-9=1 8—6x(9—8) =2 8—6+9-8=3 68+ (8+9) =4 69—8x8="5
8—(6+9—8)=1 (8—6)x (9—8) =2 8+6x9—8=4 9-8+(8-6)=5
6+9x (8—8) =6 X (8-6)—-0=7 96 — 88 = 8 6Xx(8—-8+9=09 9Xx(8—6)—8=10

98+ (648) =17 8x8—6x9=10
77T ~
T (T+7T-7) =1 TETHTET=2 (T+74+7)+7=3 TT+7T—7=4 T—(T+7)+7=5
TXT+(TxT) =1
T (TxT+7) =1
(TX7T-T)=7=6 T¥TIx(T—7) =7 TF7x0=7=28 TF7+7)<7=9 (T7T—=7)=7=10
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